

$$\lim_{n \rightarrow r} \frac{r_n - \omega}{x^r + an + b} = -\infty$$

$$\frac{-1}{()} \rightarrow \frac{0^+}{0^+}$$

$$\frac{0}{+}$$

$$(x-r)^r$$

$$x^r - rx + r$$

$$a = -r$$

$$b = r$$

$$a + b = 0$$

$$\lim_{n \rightarrow \sqrt[r]{r}} \frac{x}{x^r + an + b} = +\infty$$

$$\frac{+}{0^+}$$

$$(x - \sqrt[r]{r})^r$$

$$x^r - r\sqrt[r]{r} + \sqrt[r]{r}$$

$$\left[\frac{b}{a}\right]$$

$$\left[\frac{\sqrt[r]{14}}{-r\sqrt[r]{r}}\right]$$

$$a = -r\sqrt[r]{r}$$

$$b = \sqrt[r]{14}$$

$$\left[\frac{\sqrt[r]{r}}{-r}\right] = -1$$

$$\lim_{n \rightarrow \frac{1}{\sqrt[r]{r}}} \frac{[-x] + a}{\left|\frac{\sqrt[r]{r}}{r}x + a\right| + a} = -\infty$$

$$\frac{-1 + a}{0^+} = -\infty$$

$$\left[-\frac{1}{4}\right] = -1$$

$$\left|\frac{\sqrt[r]{r}}{r}x + a\right| + a$$

$$\frac{1}{r} + a + a = 0$$

$$\frac{1}{r} + a = 0 \quad -ra = \frac{1}{r} \quad a = -\frac{1}{r}$$

$$-\frac{1}{r} - a + a = 0 \quad \times$$

$$\lim_{n \rightarrow (-\frac{1}{r})^+} \frac{14n - \left[-\frac{r}{n^r}\right]}{r^n + \left[\frac{r}{n^r}\right]}$$

$$\frac{14x + 14}{r^n + 14}$$

$$\xrightarrow{\text{hop}} \frac{14}{r^r} \rightarrow \frac{r}{4} \rightarrow \left(\frac{r}{4}\right)$$

نمادونه معادله صحتن ! ...

$$(1, 0)$$

$$\frac{-r}{\frac{1}{r}} \left[-\frac{1}{r}\right] \rightarrow -1$$

$$\frac{r}{\frac{1}{r}} \rightarrow 14^+$$

$$\lim_{n \rightarrow r^+} \frac{x^r - r}{x^r - [x^r]} = \frac{x^r - r}{x^r - 14} \xrightarrow{\text{hop}} \frac{rx}{rx^r} = \frac{r}{14} = \left(\frac{1}{14}\right)$$

$$\lim_{n \rightarrow -14 + 4\sqrt[r]{n}} \frac{x^r + 10x + 14}{\frac{4}{r\sqrt[r]{n^r}}} \xrightarrow{\text{hop}} \frac{rx + 10}{\frac{4}{r\sqrt[r]{n^r}}} = \frac{-4}{\frac{4}{14}} = \frac{-4 \times 14}{4} = -14$$

$$\lim_{x \rightarrow 0^-} \frac{\sqrt{r+x} - \sqrt{r-x}}{\sqrt{1-\cos x}} = \frac{\sqrt{r+x} - \sqrt{r-x}}{\sqrt{r \sin^2 \frac{x}{r}}} = \frac{\sqrt{r+x} - \sqrt{r-x}}{-\sqrt{r} \sin \frac{x}{r}} \quad \boxed{V}$$

$$\frac{\frac{r}{r\sqrt{r+x}} + \frac{1}{r\sqrt{r-x}}}{-\sqrt{r} \cdot x \cos \frac{x}{r} \times \frac{1}{r}}$$

$$\sqrt{r} \left| \sin \frac{x}{r} \right|$$

$$\frac{\frac{r}{r\sqrt{r}} + \frac{1}{r\sqrt{r}}}{-\sqrt{r}}$$

$$\frac{\frac{r}{r\sqrt{r}}}{-\frac{1}{r}} = \frac{1}{-1} = -1 \quad \text{P}$$

$$\lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{a}x)}{kx^2} = \infty$$

$$\frac{-1 + \cos(\sqrt{a}x)}{-x^2} \xrightarrow{\text{hop}} \frac{-\sin \sqrt{a}x \times \sqrt{a}}{-2x} \quad \text{P}$$

$$k+1=0 \rightarrow k=-1$$

$$\frac{-\cos \sqrt{a}x \times \sqrt{a} \times \sqrt{a}}{-2}$$

$$\frac{-a}{-2} = \frac{a}{2} = \infty \quad a=4$$

$$\frac{4}{-1} = -4 \quad \text{P}$$

$$\lim_{x \rightarrow \infty} \frac{r\sqrt{x+ra} + r\sqrt{x} - \sqrt{r^2a}}{\sqrt{x^2 - 9ar} \sqrt{x+ra} \times \sqrt{x-ra}} \rightarrow \frac{0}{0}$$

$$\lim_{x \rightarrow -1} \frac{1-k[x]}{x^2-1} = -\infty \rightarrow \begin{matrix} -1^+ \\ -1^- \end{matrix}$$

$$\frac{1+k}{0^-} = -\infty$$

محل

$$\frac{1+rk}{0^+} = -\infty \quad \text{P}$$

$$-\frac{\pi}{r} \in -\pi$$

$$\begin{matrix} \cos -\pi & -1 \\ \cos -\frac{\pi}{r} & 0 \end{matrix}$$



$$1+k > 0 \quad k > -1$$

$$1+rk < 0 \quad rk < -1 \quad k < -\frac{1}{r}$$



$$u > -\frac{1}{r} \rightarrow u^r < \frac{1}{r} \rightarrow \frac{1}{u^r} > r \rightarrow \frac{u}{u^r} > 1r \rightsquigarrow \left[\frac{u}{u^r} \right] = 1r$$

$$\hookrightarrow -\frac{r}{u^r} < -1 \rightsquigarrow \left[-\frac{r}{u^r} \right] = -1$$

$$\lim_{n \rightarrow (-\frac{1}{r})^+} \frac{14n+9}{r^n+1r} = \frac{-1+9}{-1r^++1r} = \frac{1}{0^+} = \boxed{+\infty}$$

9

$$\lim_{n \rightarrow r_a^+} \frac{r\sqrt{n-r_a}}{\sqrt{n-r_a}\sqrt{n+r_a}} + \frac{r(\sqrt{n}-\sqrt{r_a})}{\sqrt{n-r_a}\sqrt{n+r_a}} = \lim_{n \rightarrow r_a^+} \frac{r}{\sqrt{4a}} + \frac{r(\sqrt{n}-\sqrt{r_a})}{\sqrt{n-r_a}\sqrt{n+r_a}} \times \frac{\sqrt{n}+\sqrt{r_a}}{\sqrt{n}+\sqrt{r_a}}$$

$$\lim_{n \rightarrow r_a^+} \frac{r}{\sqrt{4a}} + \frac{r(\sqrt{n-r_a})}{\sqrt{n-r_a}\sqrt{n+r_a}(\sqrt{n}+\sqrt{r_a})} = \lim_{n \rightarrow r_a^+} \left(\frac{r}{\sqrt{4a}} + \frac{r\sqrt{n-r_a}}{\sqrt{n-r_a}(\sqrt{n}+\sqrt{r_a})} \right) = \lim_{n \rightarrow r_a^+} \frac{r}{\sqrt{4a}} + \dots \rightsquigarrow \frac{r}{\sqrt{4a}} = \sqrt{\frac{r}{4a}} = \sqrt{\frac{r}{r_a}}$$